1:-’R3‘L1J ) ——

Vo= ~Rsdy —@s [Ru)V; = Rg(f?’ftﬁ (\7)
Ry=Ry =Rs = 0AfI5® = 100 lfL.

2.2

£g=4mA=—7'U'o 0= -‘"Ll = Ry= 3'75!<rz_
(IZEALYY S 1/) Fatﬂmdaﬂuﬁ/ld/ﬁz-ﬁs
- 10.0 W, po = Ry (g - ). ig=20mh
;»475 DV= R @0-4) 2 &k=t0fl6=6l510,

g R E‘ N

R 1

M & =
g %
«u,;
P
NE R 3T

IR L g Ve
N DNk 14 R, T = 1400 7




?’rx% \01 303'V/V I-@-(S =2x(0 x-—-~-—l’$20,
AL Adal (1-1fr) = Aull X (0.9972)

—?'\-5;':-025/[2\4)]5
= -5V = Ry=3Rs,
R= AV, /Ady =10/
0= = 10 M&2, Lot
Ry= M, et X be
the mode whoe e mston awect. Tha,
4\/1- '-‘-l/u,A '-"-7"&: IOGXIO"G’ =4V /GWLJ. "l)-o‘ =
+5V, kel (B-1)/Rg +(5-1)/Ry = 157+
1/Re. Lok Ry =tk Thaw, Ry = 8,658 ki
(mee 8.66 k) omd Ry= 25. 97 ko
(e 261 k).

(B &% R /R R JR)+ R3] =
LA v, 100/ad < 1 347 4,100 VIV,

ot (9 ol i s iy =
& oy _ 3 Uz R
RT >R = <‘+ R > &= T+ Ry

¢) & -r{, > anm_n. Lt Ry = R, =
{ M. Then, foo R=(1 V)/(1 mh)= 10> Q,
we maped. 10°=106/(1+10¢/Rs) | v K3 1 ki,
O v« 13-|7] V.




2.6

V= (1 Re/R) Wy = 1490y 5 — 0Ty +9 = D;
= U= V/(. 9 +10%) 5 £ = 'U'/([?H?.,, +

V3/Rs = [1.99 7 /(1.99 +to3)] /[( 199 || )1>]
= v/(500, qq;) R,=W/L = 501 kQ.

2.7 E?—. (2.'[> gww %Ro:w)/“o@)”"
Coveects. (a,)/:am"bowaz Wﬁftgm%«mf

kvbwm/v;,w»{,/r

2.8 f
_I__—AM + Ta'a

L_:ﬁl.__;_ e UL

G

4 (2] 4o

Ri=15/1.5= 10.0 kL, 1% 5 Ros 05R, . Use Rp=

2,00 kI, % « TMM/ Vo = (l+2ﬂo)q)‘L = L2 W7, |
@ - 2xi5=3 VM 36T

= E3-C19)) [10=1.2mAs 4,2 [-5-(3.0] /2=




0.5 mA >, M)% LA Ly= 124037 15mA,
@)/lf =-9V, n);:-—lO@V Ay D‘énnAI
19 7 0.9 mhe.

@) Wit Y ethode ot frownd, mm
&VW/U" =-5V, M= - éV L,-lmAmz*05mA
@A) Vo=V=0, v,= 1. ?M) (o 7O,
'Ce)_W:t&_a,lD-ldLMW e»waa
patinatts st ~ 13V, By kCL, Q-UL)/10 =
W +19) 10+ WL+13) (2, o V] = = &[TV,
S0, 4g= - 43 mA, :;,-0'557,,.44'::507%/“4#\.

do/lBMA'

o

(-‘ZI * ?2, llel Efkb)

R
"‘"“%“("’“%z% u)- B (S8

*ii?
e,_ |
r§1




@9

) Rulfs N U o Re
= ',‘g (qrz_m’w) 7&3&' RefRi— buy/Rs

9£ Ry (s, = R fR, )-t&-w g él (Vo~%), omd
R,F-CO 4 '

Lt Ry = Ky=Ry =10k, Ascumt o metamum,
o 2V eowows Rog, 5o Rop= 2/20= 100 0.

Thim, Rop= 0kA-H0 =99 L,

U =03 U=~ (Ra/Rs)i5=-D.k 5 RefR =315

V=0V 3 V= -0 -(Re[RG)I0 = - 2 7 R, Ry =

¢.25. Use Ry=2 kR, Ry = 12.5 kR, Rg'::-'l;{a'ldl.-

2.11 15V

2quen 4391‘-9.. l.Sovn.
10O S eyt A

2uun u.mm 1 1.50%.A.
- L '
1sv = %’(’o
ll.%bl

OAnrﬂmnlolQoa,'vwﬁ,oﬁrﬁtwﬁZtL M-lo\} o
+HoV, whicdh 0, comvrts fo o veuaiile

et M ~2mA 1o +2mA.




?-‘\?_ (a/ | | " Rq-
& ? Ru ® -(IJF K?’) P
ofx RoaVt + R4VL
P Kit+ Kza
L 2 3 Vo -V,
4'0 Rl* Rzp, st
= - W
= I‘v}: RQWL’(NM

Q- K3 Rzp (R +Rea) s Ro= Rep C'I-rRz&/Ru)
" Ry (fon +Rop)t €y Rop Ru /R —(Rea+Rep)/R;

T meke Ro =0 Mv\fw'x. RulRz= 12 JRy ) nhane
R'z,: Repe+ QZB ’T/QM‘O

2= Rz Rep (Ry + fan) Rgﬁ .le—!/R‘s
T R (R Raay 287 K Res

*) Dot~ 10 = V3 = (Ru/R5)10
Sovs Uy iRe=0.% . LE R =Ry = 100k | Ry=

Rea+Rep = 301 kits Them m,vm&(ﬁu/@-a)/ew

=0.301 /Rog = 1 WA/V §ier Rep= 301 4L, Fimad-

Ly Ran=3010-0,301 =29, & kit (wae 30 k2, 1%,),

2.15

Re. | 'L - R'?./R\ (er

Re/Ri _

—

Re o> .

Wcrﬁlﬁlﬂ«ﬂ, JL,{%:




Bl 2 - Lot R 101 pot. Subdcliding

Re+Rp ~

o sa'DWx& Ms Re(Ry=lo]q amd R =

[0/9 kL. Use Ri= 909 WR &= loo W, 2=
0.9 WL | 5= 0.0k, R =bio R 190~10-1.1
-‘KEVIU/QM/)‘/O&

}Z.i (&)MWW@F Oﬁfﬂo 4)3_-[)
MM#,OAZMN[,?_. 83/,1415

at AL @%%me%

= - ) Ve
T ) s
- R/l 4 4 /X3
B 7 NG R o T

. _ Do -V _ P |
%;ﬂQL{;h *Az”z,"A(DH “FO/DI.)’WM

ppe M0/ | ;A.-%J— and.

A+ R/ s Rs ‘
T B PR | (T4 (S AW l Rz Ry
ko (4 1+ /R ) ~ (/RS ('T?I s

TonMLRo—?WW Rae /ey, = o/ Ry e

Mﬁm@%mm Ay = Bt

S, pmvrnay ) A PO Ru/Rs = Re/Ry fowen

| £0=A'IJ1*3§£'91.} ﬂr"-;%&) /'ff"'“r@"u:‘) feg = 00.
() D4 the pomstomets.oane amismatihed,

el v il oo e mismadod. 00w




R _ (WR/RORS R\ s
Wiy, Ro= RzIR‘—(Rz/Rn)(lne)"(H Rl) e

A0, fo Ao Nesislons, |Ro|> 25(HsR) R,

LI5 | @) damite the owtputel Oy an 0 Thet
o4 Ohy an gy, By Oy's acliom, U= V) amd
Vpp= UL+ Rs Ao, Bythe %Wﬁév\/@vw}e’,

Wy = _% Vg + (1+ %;) kﬁ' (45_4-{?;*4_15): v

%M&#W 8’5’”’% 4:0'5%" ('A?,)?)Z)

Az BRe/R . RulRs o (HRy/RHRS
141t /R 4 Rg ) [72/R\— EH/RB

3""1""“?‘2/ Ry [Ry = Ra /R, 5/\)/040 R, = oemd_
Az (RelRa)/Rs.
(_L) W/‘Mt&vé/ 9, = (” R‘L/Rl) e
7 R - Re RY(-©
= (1Rl )Rs fe . With, | it mit con
2 (B 7 25 (1R (R s

216 | (o) Donets he, fo,xs%o,q,w%
AP oy M/D;Z. We honve 4, = -V =
~[-V% - (R /R) ] = Vp +Re RIS Ao =

Do~V _ V. _ Nt ,_(U-L_L_L L — _@_(_@_‘L}
R~ e = Ra Ry Ry (&

Ap= “lgope L p_ Reks
/m-l ° A_‘v} . LDA' R%)Qg- Rzﬁ'nn,"fal




3 NONZZ ﬁW%M
= 1 <

AAS SNoWn:

= g n 0N~ (Rm—ﬁc /RleB)"r

@z_ RB»
_ | L &a(fc/Rpd
Rz Rz |
Roz - ;

"4 T RetRs - Ra (Rie/Rip) ‘ ;
Rods matiwied. nvbom Re,Ro,amd Ryp ave
asimiszedy and R ana. Kic A minimiged.
17, posslen, powill
e T eklol
o)) = Ty ToT = (+#3) 049 (0:99 /1.01)

Ry
EX v 8




20| @) ip= lwA,Ro=0. )= (o/C )t =
(o /1O t= oMt rug,(e) (rea RV ()
= 1.295 X104, A fimean

) 13= l.zqs'xlo“e—_-? ££ 1\ s,

(122/12. - 94/93) =

G2 (ka2 15 -3.978 /15) = 150 KL} Roi=
50%1=150V; T=RoC= 150x10% % |g7 (= \Sms
(+ PR )R~ (143.980/15) (50 = 1907
B (k)= 190V [1- eep (- t/i5ms)]. 13= 1900
{1- u,o - t/lSrm)l =>t= .06 ms.

() Now Ro= —150 ke (1+Rz /)
[Reldo 2200V, U (6)= 200V oep(t/i5ms)~1]. -
\3= 200 [2p (£/15ms)-4] 3> £= 0.95 s,

¢ !
ICH

@?} ) ) /"’a’é

/,‘:": 7 W Rz {2 bk
= 12V 2s Rz 3298k

E %2 Rp=l86kn

|

% >L




2.19% R Rz

L V- (v/R)R,.
_l [ I CE - 3

“&0- %)

R <R, > R, >0 RL<R = Re<o vy R =R,
> Ry =00

&. @)

: - : AN~ '\M-’-—]
A é t -V, + =
] I
fDT =
=V -aUy rp -aUn+U.

L Uy - (Q’lfN +'UI.) Rzl;l.
= Ny = <R«z,u;_+fu;_)/(u-a,> ecks

”"G:G-l'%,é‘%:‘ Jg'\rc__ (1”!%&) ALI-,
A= 1+ 4%]'//2 5 Ro & (H‘%)
F) Ve R=2LQ, =8 kR,
e e
K, 210" x (1+200,000)= Hoo ML,




2.2 Tuﬂ,m?k&r s =Vn =0p. Bythe
Len g afa& Vp= (ﬁ’ //R1>|g+ 'D“L

BD kCl, Ap= pr-’lﬁ_)/(f?\ ”?z) ngf;

_ Ksi/R2 VL _ 'UZ.
o Rx/ﬂlz,‘/g )&/IRL[ ’QS““’Q Ads ®’

_ 1R /R - Rk
A TFRIRS ) Re ¥ IR,

Fo ks> /M,&db'ﬂr:: I+ Rz /R, amd K,=a0,

. B
C AN szo Y
L ] ‘o

'U_é 0y + R’Lug} Np = A Jp- Vo)'?% HQ., —Up
A5 -V

o= i (Vi Rels) . dp=ig + R T

L‘o-.: s 4--%‘- [T%WL'UL* HQ/QU,;,] =A "S .L’U’L)

A= 1+ (Re/R)[(141]), Ko = Re(1+20).
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2.1%
Chooe the T-V compntin mme.wt;
a 410V M sealle ot0Ag's /owtrd; ”g\Lw))
AL R = (MR, Ry= 1k, Ry =100 le2,

Appuwady = 10% X100% 1673 = 10mA, D ;
Rg = 00T 'aweioln a &LWWX
[3-0.1x10 =12V 7 5V. Fomelly fut

/
Ry= Ry =Rg =100k, Rq=99.9 L.

V= -Rily - (Rf VL) W= - 07z R 5r+7§';1)&~

ORLL 2al TV [N < A, ) B
4’0 R?, ?2. RB‘LI "U_,_ ﬁ-""'ns R zﬂ's?.

I“Tﬂv Hy #R3=R) Ao achiove Ro=c0) amdl.

fafls=lo 1o WWW@M Meng~
ovot, Riz 0 Wq%mwmww
Ve Ry = 0.0k, Ry=1.00 ki, amel Rp= .09 kA,

|25 Theontpuitel OA q}:,:-%%-%iaﬂ,.

By he cpinpnition proeiple,

~_Reor_ R Renp
-R——‘?)' -E,qj%_,_gq}“‘__




The crowirwms The ovem— muwmbened m
Wa@m} M’Cﬂe ot~ mmmbtne< ity
/@G/nga g%mwm/ﬁmmwf
Rt PL3] ngjﬁé;mi ~.&A
(D;};,v; 720‘ MW
2726 | .
mem&v ~ P 204
\ \ o L 240
gﬁ,b@/ﬂww et aamur»t/ ALy (&
:)-' /ZR{. H?/uac/ 250{3221. T B
2 ik (b) Soth, pnitamces Ry canwy Y, ﬁmf}u
cumant Ma,%»% oot rpllale v

pields 4 = 20g > 2/ (RirRe) . Covatauantiy
Qoo = (R +R2)(2 ) )

2.2:1
@ R N R A R




Lelbimg VN =V samd. MM%/,

TA-TB = (R/RY(V9-V) eeeiviieennn v (1)
 UrVa _Va-Tg , Va-To
KCL ot A PRe - Ra + e

. 92-TB |, h-UB _ VB | Subbvackin
KCL ok B: RIHZ?,+ Ra Rz B

(LU (a-Ve) ., VaU _ (U)o

Rl“'R'Z__ +2 RG RZ.
mel-»irvw\'uz with Eq.(1),
1+R2 /R R /R L \_ % .
((U‘?-;U;)( RI:R1+2 Rg * )7 Ry

b oV, inplfing,

Vo=2E (H %3;-) (-7 . |

®) Lot Rg = looka pot s senier mith
a slen poston. Thn, 100 = 2(Re/R)) (1+Rz2(5)
Amd. 10 = 2(Ro/R)[1+ 22 /(100+2)] . Dowiding,
100/10 = (1+ Rz /8) / (1+ Ry /I05) SOM)
R =85.9\a . Back Mm% ‘
Ri=3L24 k. Use R=3L6kR, B =86.6
ke, Rg = tooka Pt + haqir, el 17

2..28 (o.,) (DO-Z:_‘OZ%/QG)‘UB. Su.,re\rf%f,tloh:

V= Ra_'lgzliiéu;m?- X Volko_se dividey : Uvi=

[_Rz/ (R Uy, EHMW&%Z omd. le'ttf.nﬁ
Vit =Tep qovtn Vo= % —’é““; (-M)-




(&) Lok Ri= Ro=10k . Than A= Ra/s.
Let Ry = LR amd Lot R be o 400~ kL pot im.
svies with a 1-kfL pemstor. Thon,
Aluind =1 VIV, Aguany= (+100)/1 2100 VY.

LT | ) @rav)fe =10 co er6ot V'
T2 0.0 #03 2706 V™ Ay, = 2/0.01 =200
'V/TT/‘ Ae = 0‘1/10:0\0(V/V/' CMRR =
2 o, (120/001) = 86 dB. '

) (W 4p) 2= 10,005 s> 2TG0E v
W7 = ~ 00l pym ZaGOE + 0,01 o ?,rrw}x‘:'\"?'
Alen = 2500l = 250 V/V. At 6o Hz, w&/
hae 0.5 = 250%(=0.01) + Aamx 10,005, dLAa,,-
0.3 V/V; CMRR = *zoxomo(sv/o )= 58, 4.

220 | Adum 2 (100 KQ)/(1 k1) = 100 y/V= Lo dB,
Tow "‘aﬂ) Methe M’M‘B ﬁ%fﬁ\”\— M“ﬂufj
q/co'wvmwwéml « Thim,

| 97\ loz -
Mo = - 151+ (175 ) Wzr0445 = 00 %61 WV

= -2‘8.‘[48 . CMRREH0O- ("23'7) =63.1 d B,

2N ] 1A= 107 VAV, CMRR= 167, [Acm =167V

ﬂfu\ Vo~V = ZmV /\R(,-' (‘U’ui-'ﬂ'zD/Z L[-V
Vd |= lo”mwo“"-zv,hs;c\ 021t = 0,04V
Exor = IOOWocI/I%A\ 2/0.




Re Yo R

RaVic+R(,
oc- A/((U_P ,U.”) Q,L l.rgz Lc va %‘W{?'_LOC]

=A W ey oc]

7 Woc (+af?)=0 = Uoc = O nesand om of Ue:
2> (MRR = . mm&): fu‘ocm?wa/
S 2o Suppore Ve waoqm&ttme Them,

W aowld be >N, mel eX(D‘o =a (Vp~Un)
<0, a conlradiction .

2.63

U= VUpy = B = 'SV--SMthV;
Viig=Vpp = Up =SV +5 pemit mV™
Vit ~Tuz_

Vot = Uy + R MR;TN?': 5V = 5 picdt tV +
0% . .

P (-—lo pma/b’m)s/): 5V -5.005 pmwt'V,

Vpp. = 5V+5.00§Mwi‘7'\7’

Upz =Vp3 = %z,- 2.5V '+ 2.5025swak Vi

Vo= & (4)‘02 Y= 10,01t




2. 9| i = w-Vo2. =4, (Vpy~Vi1) —

A2 (Tp2-VN2) = Af(Vpr= Vo) ~Wiyy -V )]
=0.[Vy - Rs Vo /(Rg+2.R3)] . Thws 45 o The.
Bpe Wy = @ (Vp- ), = Ra [(Rat2Rs).

L75] From Proldom. 2.3, Pr=1/Ar=YeD

V/V' MLV, Gn:""/Am- 1/20 V/V We_,
& DA 7, maxiomum . A

”ﬁﬁfrxifm“w@%m

a0.05J, matummm. dlonvalioin
A . Thws, oo/a,I(s £0.05 = Qr % lox
50/0.05 = 0% Vv Akeise, ag 7 a0tV

256

b Rz.h U3 >
(|+ )’Ui )

_‘0‘0 U"Z- - /U.“z:"'lr’b .
Rz g/2

%"W\ 8"%)

" Wz (|+ )(’u‘—'u‘)

2’5'1

® sz«u

o e o - B - B




(b) With 15 passstows, & cam L 2
w 0.0%. Swce thwr 1> vk Loy Tham 100,

e com wnfe CMRR 2 20,4, (100/0.04) = 6.8 B,

L.%%

< 3

:(U? 9 ’U-N?_-‘: (v:éz p—t QJE.‘ A'J?}O ’.DVL\-g \LCL \
UV, UV Vo ViU, V-T2,

Ro Re, Ry 7 Ry Re, 12,

R Ra\ /.
'?C"L Uy ﬁ@dﬂl/) 'U;:: (l+—1-251‘+2 -EE)(QTL—-V;)
&) Lt IZQ"ZRGk-i’IZQB)w&W.RGA:

012 . ﬁ/'b?fibw/-u% mvmc R, /Ry =1,
oot A= 2(1+22/Rs). 10 €A <100 =
5< (1tR [Rg) 250 = & & Ry /Rg <49,
Ra= 0+ Rap =7 Ro/Rep =495 Rg=10+R4p
= Ry /(l0+Rgp) = &. Sofﬁuw%) Re g =889
(mne g3, I%)) R=G8Rgg =35 k2=
R (ot R =Ra= 3210, 1%5).




 (b) Lot Rg Aea 10-k2 potin sendes
with & postance Rs. Then,

2('+'%)=\00 > R=H9K,

2(|+ -ﬁ%-;):- 0 > R= 4 (Ao+s). 5«‘4’5"’3‘"},
Rs= 838 L (mae 88T, 00), R= 435 kL (nse
w39 kR,1%,).
[2.40 Wmfmodmaomam chemit
. de > . Bnorwﬂ,%%) Vpy =Upg =
Vi) U =Vpr =y - MO’W“L) the
OAo Ay Ay = (H— Qa/ﬂz)’lfi, = *%L’ﬁo +(IT 'ﬁﬂ Ny o

. This, a)‘oz(w%)(nr?;ﬁ). |




4 Ly
(l}- UOC
IC L

A=+ (R R lRy= AL ) R/ Ra= 1/ (A1)

1+ /R2 A
Va= Ve = U
1 l+ H'E\{R?. 1c A...[.;-A/q' c

_ | fl _Re
Vo= TS SN [(‘+_l—2_{)(0-rc R’ m]
ey

- A [__AL Aw
T HAfe [‘ A-—um/qj S
A qff(. = Acm 4)-1:(

- AQt )+ (1- YA
MR = 5 = a(I- D)+ A+ £) 2

Sice v fminall A< W noacily seethot
Wamﬁv)w&aﬂs, n A, me

cMRR%ﬂ/} mé’)‘)f/dr,
-
A*;!03V/V ’?CMKR‘,B-: —"?‘%!9 ’dB-;ﬁ,Oﬁe[B

AUV = CHlyy= (1554 10,02 dB,
pindicaliig ompinsigons Lreant” chante.




Whow Al “1000” switches .ane closed. ,

+
look.2- ook s \000 = l+2w.

|
&'&+Q2+Q3=
499 .5k
Whow Ahe, “ 100"
looce £ suitches ana closed |

LoV

Riu+R2 .
2 Ry -y

2 R, QR 34951 Q.
Com bUnim;

Ro = .5k,

When the “10" switches
are cboved

o= |+ 2

100= 1+2

R, ‘
2R2+22%+|

L Ri= 9% + sk 2. Combining .Oi,e,lcis

Ry=Usk .and R =l5ol L. Summavizing,

Q[: 45—(3‘(,-(?7 Ra= u:GL’_Q/ (& 45‘(_!2/ Rq::]_lcﬂ.
AU Ahan, vesistors = joolea,




ANowithus Lord = Uy = 4% W0 (W-U) + 0V,

"8 guiteher closed ¥ A= (1+275)x100 (4,0 +5 V.

L | @) Letmmdt(odzs 4 OA and Oke be

M%z %enfwcbb\,

oy = (l+‘g“")"fl %‘WL

= (1 &8 )-8 o Y- ]

KCLY 4o = M-r -@%QE~EILMMM§(%3)

{:Oz_z‘[“ Rs Ks (H- K; ]*—‘U}_K

Rz*ﬁ'a—llnﬂg/Ru Y N I
R ‘),t,y, 106

MWIMBWX Kot R “Rlﬁ‘;/,&f W

q4p= 'L((U'y'v”), N \—f'st_/Ru .

(b) Vst R;-:«Rq ,,Kg, 100 kL, Ry =200




@

kﬂ, prosd. RB z 00-2=298.0 kI,
(C) %WWWMsW) the

5, will abo oo amsonatibed . Myworn,,
Ry $0. Ro by mumimviged mhen Ro | R and

Ry WWXA, ._ Q‘.M Rgane (YWWW%“{ .

R )& gl a8l
main )= g5 x1.001 -—-_(iDE.éc"D-'ﬂl;’ﬂ"i)z/( 95X 1.001)

= 590 kL.

72.b5

(R =

Viy , Ve-vn | P-4 |
- + ——
5§ T Rg °

ﬂyr’/lr?. /U\ﬂ)-rl)“z_ 4)2{ '-“2" —
R, T"® TTw " °

Sofnf for %*vm " |
V= L *"T?-(%q‘*ﬁ?)’@ (.ZQQ; ) ke
o= 0 LA | Ssteiting Wy goves

Lo = 2(44—%%)(43;11:[).




LU0 @_) I/R=AI/R\,A=I:1+ZQ3/RQ‘ Stnce.

A %A, Ra. I/R most vaxy
- Rz R Rip OA1 ovey o 100 ¢ 1
R A reomse omd_ simee
_ 2&5 R‘Z.AZE ‘ A'> I) V‘\N\, oSe
| o 2< A, ¢ 200.
LNGEs3 R, PreS
qJ, ot ' Then
2 Ay _l_ Vs 2
= _ 3

_ 2
2=1+2 100+ Rgp W%ﬂd’do

Rgz50.25kq (me. 49.9 k.Q)} o

Reg= 0,505 L (mre kQQ L) . Whew A =2
we vk VR =2/ = lmA/V =7 Ri=21 L.
Use the vwn Howlomd. ercuit with
R =Rz =100 k@ and Ryp= 2k 2. Then,
Rop = 100-2 = 4812 (e 3.6k ) . Now
L% of 100k A Ll 2. ke Rip =lok
Ao It on A safe mida  and Rig= 9572
W SWM) Ri=R.= ook 2,
Rip = low2 rot, Rp= 953k, Rop=97.6
KR, Ryp=2.00UR, Ra=HQ.9 KL, Rpp =
100 Wit y, Rer = 499 AL,

(‘0> Let V3 =Vz =0V LomAd. W

R[& A0 W 7:1:6 .2.9.




.11 Wg[;&wfvmta Fope 2.30, wt wand
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